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Note : This paper is of Sixty (60) marks divided into three (03)
sections. Learners are required to attempt the questions
contained in these sections according to the detailed
instructions given therein.

AT : Ig UIA-UA WIS (60) 3l o1 & S i (03) Gt o fawrfoa
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Section - A / @S-

(Long Answer Type Questions) /( <€ ST ael W9)

Note : Section 'A’' contains four (04) long-answer-type questions
of fifteen (15) marks each. Learners are required to answer
any two (02) questions only. (2x15=30)

q2 : TS ‘@ W =R (04) e S arer wv fIu e ¥, el wea
& Tauw usg oie Fruifa ® | forenfedat 6 sl @ fa@ @
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1. What do you mean by elasticity of demand ? Discuss the
different methods to measure it ?

T H AT W ST T A 7?2 39! Ao H fafae
fafert =61 =samen wifsu)
2. How is the price of a commodity determined in a perfectly

competitive market ? Illustrate and explain how firms under
perfect competition find their equilibrium ?

ol gfeEntt SR o Uk 9% 1 wid B a T fawe
S & 2 gof wfaaifar & o @t grmewen frofq w %9 ww
foman ST ¥ehar ® ? T4 sifS)

3. What is meant by production function ? Distinguish between
laws of variable proportions and laws of returns to scale ?

S Hord ¥ 41 Afiyrg @ 2 afied-eiet 3qu & e
Y & giaed & fEm 4 o T sifvg)

4. Discuss kensyian theory of employment. Distinguish between
classical and keynesian theory of employment.

1Y & IR fagra &t fae=mr sifsw e qen «ig &
TSR fagi # R ¥ S|

Section - B / @8-9

(Short Answer Type Questions) ( g 3TRI ATl U9T)

Note : Section 'B' contains eight (08) short-answer-type questions
of five (05) marks each. Learners are required to answer
any four (04) questions only. Answers of these questions
must be restricted to two hundred fifty (250) words
approximately. (4%x5=20)

AT : W ‘@' U 33 (08 ) T I A1) wH fu Mg &, vk woH
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Briefly discuss any four (04) of the following :
= o 9 fsl 9/ o deg o ==l St

1.

Note :

A<

Define managerial Economics and explain its importance.
Yok 1R Rl Rwifid wifSie den sHeh Hew Wl
AT hiTSU]

What is law of demand ? Write the assumptions of this law.
Him w1 Fram @ € 2 39 fem w1 g fafe)

What is the purpose of demand forecasting ?

HIAT YA % IIRYF HBH-DE § T 2

What is the marginal rate of 'technical substitution' ?
‘bRt oo’ B EiA S © 2

Why short run average cost curve is U-shaped ?

3T | 3igd o @ U SR & 0 8l 7 2

What is meant by product differentiation ?
Saarg faddieor @ @ iy ® 2

What should be the profit policy of a firm ? Out of maximizing
profit policy and satisfying profit policy, which one would
you appreciate ?

Tk %Y st o ifd == g =ifew ? sAfeeray oy +ifq wa

Define national income and explain its importance.
T 3T Sl GRS JIFST 9 9% He i AT HiTog)

Section - C / @E-TT

(Objective Type Questions) / ( TS I )
Section 'C' contains ten (10) objective-type questions of
one (01) mark each. All the questions of this section are
compulsory. (10x1=10)
g T H T4 (10) IS yyA feu e ¥, uee ue &
fom e ofw fruifa & 1 3@ @ & Tt vo= eifvard 2
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Write True/False against the following :
Freafafaa & amm 9@/3me fafau

1.

Under perfect competition all firms always earn normal profit.

ool wfaaifien & ded wufEr g0 WHR Y hA B
When AC=MC, AC is minimum.
S AC=MC, & & AC =iqq et 2|

Profit maximisation is the sole objective of all the firms.

AT T Wt R H THAT IRV A 2

The act of making goods and services is called production.

aegelt 3R Fenstl w1 o SceA ween B

Perfectly elastic demand curve is horizontal.

goiaan e | e afas gk 2

Fill in the blanks :

fra o o i s

6.

10.

Opportunity cost is also called the ..................
TR AN Tl covernrrrrrennnn, ot FeT S R

A demand curve is the ................... presen

schedule.

ﬁ ':\0 3
!§ | 0000000000000000000000000 El |E| |

Two goods are ................... if the quantity consumed of one
increases when the price of the other decrease.

ST ek o] 1 o HE ST §, 59 feufq § ol g o 3fs
IS A B = L RS FEAdl

According to many economists, the root cause of economic
problemis .........ccc.........
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